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I 7 mwn: further on mistaken w1pn
a if someone took a vow of m1’1 and then found that his animals (that he was counting on for the j21p) were stolen
i if he took the vow before they were stolen, he is a 1
ii  if: they were stolen first, he isn’t a 1
iii  misapplication: »1an WM (at time of 129n) told b1’ that had come to 05w to bring their ni11p and found the
wTpn desolate and destroyed:
1 he asked them: had you known that the wTpn was destroyed, would you have taken the vow? (A: “no”) and
he released them
2 opom he should have asked whether they took the vow before or after the 127
iv  note: 8"'s silence here indicates that he accepted p’nan’s position, negating 7512 pnma
1 further: pnon agree with 8" that 751 »8in works
(a) Example: if someone asked these n»1’11 — “had someone told you that the w1pn was destroyed, would
you have vowed m11?” and they answer in the negative — vow is released.
(b) Observation: 9oy "1 and »aR point to vv. 1-2, forecasting the n’an 1a9n->not THnatall
(i) Rejection: the verses don’t pinpoint the day of destruction exactly
I ’n mwn: vows taken on condition of mutually exclusive realities
a  example: if 2 people (A and B) approach C; A vows on condition that C is '1%9, B vows on condition that C isn't 1%,
D then vows on condition that one of A or B is a 7', E vows on condition that neither A nor B is a 7’13, F vows on
condition that A and B are both o1 and then F vows on condition that A through E are all orn:
i rulings:
1 w7a-allare orn
2 n"a-only the ones whose words were accurate are n*n
3 v™-none of them are n*’n
(a) reason: mM requires NRYan (clear unequivocal expression)
III "y mwn: variation on earlier case:
a if Cran away (so that we could never identify if he was indeed »11%2)
i p"m:none of them is a M
ii ~ w™:each should stipulate —if C was "m%a, I'm a nawn 1; if not, 'm a nam »n
1 implication: if he hadn’t run away, (at least) everyone who was right about his identity would be a 71
2 authorship: must be nT’ "3 of case of :»13
(a) if: someone takes a vow of m7m on condition that he has 100 13 in his granary — and comes to find it stolen
(i) AP 7notan (YpnY Mn pav) - only if we knew that there were 100 115 would he be a 1n
(if) pwpw 77 valid myn (1Pann% M pav) - since there may have been 100 113 —7m
IV 't mwn: if the object of the condition of the vow(s) was a "2 (a type of wild gazelle that has ambiguous nnna/n’n identity)

a mifthat'sann e n if that's a m'nand nnna

b mif that'snota mn f  mif that’s neither a nn nor a nnna
¢ nif that's a nnna g mifoneofa-fisan

d mif that's not a nnna h  mif none of a-fisa

i if all of a-h are ™1
i ruling: all are mn
ii  mote: tradition records the number 9 here —
1 either: 9 11 —if more people continued this chain
2 or: 9 nmn (for one person)
(a) Meaning: he took all 6 statements (n'n/ not n'n, nnna/not nnna, neither, both) and then all possible
combinations (3 — n'n, Nnn3, both/neither) (*17xn)
(b) Alternatively: he met a group of 9 as above and accepted their entire total of nym (v”R7)

—

www.dafyomivyicc.org 25 © Yitzchak Etshalom 2015




